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METRO SALERNO

V_PLAN V6

X 486738.941

Y 4499230.212

R(m)  800.000

Sv(m)  33.615

Alfa  2.6750g

Alfatot 4.6980g

Tarco  16.810

Azin 100.8480g

Azfin 105.5460g

V(km/h) 70

Ltr(m) 25.000

m(m)  0.033

H(mm) 50.0

METRO SALERNO

V_PLAN V7

X 486822.170

Y 4499222.988

R(m)  800.000

Sv(m)  33.414

Alfa  2.6590g

Alfatot 4.6818g

Tarco  16.710

Azin 105.5460g

Azfin 100.8642g

V(km/h) 70

Ltr(m) 25.000

m(m)  0.033

H(mm) 50.0

METRO SALERNO

V_PLAN V8

X 486956.332

Y 4499221.166

R(m) 1650.000

Sv(m)  34.876

Alfa  1.3456g

Alfatot 2.1172g

Tarco  17.439

Azin 100.8642g

Azfin 98.7470g

V(km/h) 70

Ltr(m)  20.000

m(m)  0.010

H(mm) 20.0

METRO SALERNO

V_PLAN V9

X 487030.986

Y 4499222.636

R(m) 1650.000

Sv(m)  34.452

Alfa  1.3292g

Alfatot 2.1009g

Tarco  17.226

Azin 98.7470g

Azfin 100.8479g

V(km/h) 70

Ltr(m)  20.000

m(m)  0.010

H(mm) 20.0

METRO SALERNO

V_PLAN V10

X 488410.970

Y 4499204.256

Az          1 100.8479g

Alfa 27.3219g

Az          2 128.1698g

T        t1 352.232

T        t2 368.113

Sv          (m) 729.027

METRO SALERNO

  CURVA V10a

Alfa  14.8747g

R         (m)  1550.000

T        arco  181.908

Sv  362.160

V      (Km/h) 70

RP            1 (m) 20.000

m        1 (m)  0.011

H         (mm) 20.0

20.000

METRO SALERNO

  CURVA V10b

Alfa  8.1399g

R         (m)  1950.000

T        arco  124.835

Sv          arco  249.330

V      (Km/h) 70

RP            2 (m) 20.000

H         (mm) 20.0

          arco

RP            int (m)

METRO SALERNO

  CURVA V10c

Alfa  1.8482g

R         (m)  1293.000

T        arco  18.770

Sv          arco  37.537

V      (Km/h) 70

RP            2 (m) 20.000

m        2 (m)  0.013

H         (mm) 30.020.000RP            int (m)

PR 1560.087

QV 20.332

Pe 0.01000

Pu 0.00000

DP -0.01000

R 5000.000

T 25.00

F 0.031

Pr_l 1535.089

Pr_f 1585.086

V_ALT 09

METRO SALERNO

PR 1790.087

QV 20.332

Pe 0.00000

Pu 0.00679

DP 0.00679

R 5000.000

T 16.97

F 0.014

Pr_l 1773.119

Pr_f 1807.055

V_ALT 10

METRO SALERNO

PR 2100.225

QV 22.437

Pe 0.00679

Pu 0.01055

DP 0.00376

R 10000.000

T 18.80

F 0.009

Pr_l 2081.422

Pr_f 2119.027

V_ALT 11

METRO SALERNO

PR 1230.087

QV 17.032

Pe 0.00513

Pu 0.01000

DP 0.00487

R 10000.000

T 19.34

F 0.019

Pr_l 1205.725

Pr_f 1254.448

V_ALT 12

METRO SALERNO

PR 2750.225

QV 26.584

Pe 0.00281

Pu 0.00172

DP -0.00109

R 30000.000

T 16.35

F 0.002

Pr_l 2733.870

Pr_f 2766.580

V_ALT 13

METRO SALERNO

PR 3050.225

QV 27.100

Pe 0.00172

Pu 0.00000

DP -0.00172

R 20000.000

T 17.20

F 0.004

Pr_l 3033.025

Pr_f 3067.425

V_ALT 14

METRO SALERNO

PR 3400.228

QV 27.100

Pe 0.00000

Pu -0.00382

DP -0.00382

R 10000.000

T 19.11

F 0.009

Pr_l 3381.114

Pr_f 3419.336

V_ALT 15

METRO SALERNO

D=2.105 S=310.145

P=6.787‰

D=3.163 S=299.879

P=10.548‰

D=0.984 S=350.139

P=2.810‰

D=0.516 S=300.000

P=1.720‰

D=-0.000 S=350.000

P=-0.000‰

D=-0.000 S=230.000

P=-0.000‰

A

V_ALT10

Prog= 1790.087

Quota= 20.332

R= 5000.000

T= 16.968

Sv= 33.936

Dp= 0.67873%

A

V_ALT11

Prog= 2100.225

Quota= 22.437

R= 10000.000

T= 18.803

Sv= 37.604

Dp= 0.37609%

A

V_ALT12

Prog= 2400.087

Quota= 25.600

R= 5000.000

T= 19.344

Sv= 38.686

Dp= -0.77379%

A

V_ALT13

Prog= 2750.225

Quota= 26.584

R= 30000.000

T= 16.355

Sv= 32.709

Dp= -0.10903%

A

V_ALT14

Prog= 3050.225

Quota= 27.100

R= 20000.000

T= 17.200

Sv= 34.400

Dp= -0.17200%

A

V_ALT15

Prog= 3400.225

Quota= 27.100

R= 10000.000

T= 19.111

Sv= 38.222

Dp= -0.38222%
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 e ricostruire Km1+828  (Km 60+330 LS)

NV02- Cavalcaf. via Wenner da demolire

 

e ricostruire km: 02+406.50 (km 60+909 LS)

Passerella pedonale esistente da demolire
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